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FT-F 9/2016

SUBJECT : INFORMATICS PRACTICES (SET-I)

Time : 3 Hrs. M.M.: 70
General Instructions :

The question paper contains 7 guestions. All are
compulsory.

Relational Database Management System-MySGL.

Wwhat do you mean by secondary storage devices? Give
any two examples. (2)

Wwrite the difference between serial and USB port. (2)
" What is the purpose of the following devices? (2)

(1) Speakers (if)  Plotters

Give the full form of OCR. (1)
What role do inpuit devices play in & computer system?
Give examples of some inpul dcwceq (2)
Name the parts of CPU.  ~ . (1)
Write any two [unctions of operuating system. (1)
What do you mean by BIOS? (2)
What is the use of back up utility soliware? (2)

Explain the term system software wilh the help of

suitable examples. (2)
Define multiuser Dperatmg systemi. (1)
What are the uscs of payroll management system?(2)
Define the following terms . (2)
(i) Flrewall - (iij CAPTCLA

What is o WDI'I'I‘.l-'F‘f,_ (1)
What is cyber crime? Give four examples. (2)
Deline antivirus soltware. (2)
Explain the usage of digital signature. (2)
What is the need of social networking? (1)
write the command to display the structurc ol the table
“School”. | (1)
Differentiate between Alfer and Delcte command with
(he help of an example. .~ (2)
Explain the two wildcurd symhols used with LIKE
operator with the help ol an examplc. (2]

1)



gD,

(d}  Wriie the command to increase the marics by 5 of all

students in the marks column of table “Student”. (2)
(e)  Write the set of commands to display all the tables in

the database "University™. (2)
() Deline Primary key. (1)
Write MySQL commands [or the following based on the table
STAFF, (10)

SID

FNAME | LNAME ADDRESS | CITY

152

Sam Tones 33 Elm 5t Paris

———

159

George | Smith 83 First Street | Howard

300

Rohert Samue] 9F i_fth Cr'r'}rag _Wa;f_}ingteﬂ

315

Manila sharan _Eﬁendg Coluny New Delhi

427

Mary Jones - 842 Vine Ave. Canada

678

Peter Thompsr:-n 12 Moore SLreet Bostan

6320

lenry | Willims 440 USI 10 Upton

(a) To displa}f'me.e, Lname, address and city of all
employees living in Paris.

() To display the fname of all cmplayees in ascending

I's order,

() m To display SID and Lname of all employees.

[d)  To display the Lname and city where city nume starts
with letter ',

(&)  Todisplay fname of all employees whose SID is between
300 to 500.

(f)  To display size ol each address,

(8)  To display each fname in capital letters,

(h)  To display all informaiion of those employees whose
city 18 ‘Boston’, ‘Paris’ or ‘Washington'.

(i) To display first two'letters af Lhame of all employees.

() Ta display each address in small lellers.

(a)  Amuan has ¢reated a table “library” (hat has 6 coloumns
und 13 records. What is the degree and cardinality of
the table, afler adding two records and deleting two
columns? (2]



(b)  Write the output of the following queries ! (4)
(i) Soleet instr(*CBSE Examination”, "Exam’)
(i)  Select right(*Testing”, 4):
(i) Select mid(*Computer’, 4. 3);
(v) Select round(67 548, 1)
(¢) Wrile MySQ@L statcments to do the following - (4)
(1) Exiract the string "STEM" from the siring
“SYSTEM".
(i) To display the year part of the date "21 May
28.16%,
(i) To display the number of letters in "DESIGN".
(iv] To display the current date and time.
Q7. (@) Write MySQL cammand to create the table “BOOK" with
the following specifications - (2)
l*‘iéld Namc | Date Tﬁiﬁ Size Cdnstraiﬂts_
"BookNo | | Numteric 6 Primary Keyf
DookName Varchar 100 T
Category | Va;r:har : 50 T |
Price | NLlIHEi‘iE ;_E _F
Quaﬂtiti } EllliﬁlﬁC B ﬁJ_ T - ]
Publisher Varchar 100 -
(b)  Write command (o add following rccord in BOOK table:
1001, “Maslering Physics”, "Science”, 200, 10, "Laxm
Publ.” (1)
() Write the command to Incredse the price by 100 for
hookno 1004. (1)
(d)  Wrile the command to delete all the rceords, whose
Bookname starts with the letier "M™ (1)
(¢)  Write the command to add a new column "Author” with
duiatyvpe as Varchar and size 30. (1)
(f) Write the command to delete all the records. (1)
(§)  Writc the command to delete the whole table. (1)
(h) What arc DML comimands? Give twa examples. (2)

(53]



FT-F 9/2016
SUBJECT : BUSINESS STUDIES (SET-I)

Time : 3 Hrs. M.M.: 90

General Instructions :

(1]

(iy)

(iii)

(iv)

Ql.

Q2.

Q3.
Q4.

8o F

Q7.
Q8.

BIEl

Answers to questions carrying 1 mark may be from
one word Lo one serntence.

Answers to questions carrying 3 marks may be from
50-75 words.

Answers to questions carrying 4-5 marks may be about
150 words.

Answer to questions carrying 6 marks may be about
200 words.

Mr. Rajiv sold his old sofa through OLX. Idenlily and
explain the lype of e-business transaction mentioned here.

(1)
State the utility of Smart Cards. (1)
Enlist any four contents of Articles of Association. (1)
What is the importance of ‘Common Seal' in the working
of a compauny? (1)
Define ‘Particular partnership’. (1)

There is a rise in the interest rate on horrowings. ldentify
and explain the cause of business risk referred here. (1)

List any two exaunples of a statutery corporation. (1)
Explain the principle of Insurable Interest in case of marine
insurance. (1)

Identify the following and discuss their liability towards
the debts of the firm.

() A person who contribute capital but docs not take
nart in the business of the firm.

(i) A person who contributes capital. takes part in the
management and shares prolits and losses.

(1)



(it} A person wha gives an Impression (o others that he
is & purtner of the firm through his behaviour, (3)

Q10. XYZ Lid. a stee] manufaciuring company imported a i..

Q1l.

Q19.

Q13.

Q14,

Q15.

Q16

lech packing machine. Emplayees of the compa.nj; are 1ol
trained 'enaugh' Lo.operate il. So, the company enlered into
d contract with a training institute io traip its employees
for the same.

(a)  Identify and explain the type of contracting being
entered into by the compatiy.,

(D)  Explain the features of the same. (3)

Employees Union of Hindustan Textijes starl a retail store
to provide daily household articles to its members at
reasonable prices,

() Identify the form of (his husigess and its type
mentioned above,

(b)  Explain any other two types of this farm ol business.

(3]
Whal arc the consequences ol non-registration of 3
partnership firm? (3)

DTDC s providing services of collecting and delivering
parcels and letters to their clients, Identify the type of postal
sérvice and also expluin any other twao ypes. (3)

Afay, a sole trader is dealing in electronic items, He is Nnow
planning to start gnline trading of his products. He
approached Mahesh, a computer engineer, whg suggested
that he should first uppoint technically qualified personnel.
Explain the various resources required for successful
implementation of his new business. (3)

Give a comparative evaluation of a Joint Hinduy Family
Business and a company. (4)

- Alactory owner took g fire insuragee policy for its factory

without informing the insurance compary thal he received
notice from electricitv department to get the wiring of the

(2)
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Q1&.

factory repaired. After six months of taking policy the
factory caught fire due to faulty wiring.

(@)  Was he right in not informing the insurance

company? Why*
(b)  Will his claim be accepted? Why?
(c)  Explain the related principle of insurance, (4)

Indian Railways’ is a parl of Railway Ministry. It is
organised, financed and controlled by Railway Ministry.
The finances are allocated from government treasury and
whatever revenue it carns is deposited to government
lreasury only. Even the appointment, recruitment and
sclection of employees is done in the same way as that of
civil servants.

(a) Identify the type of public sector enterprises
highlighted in the above case.

(b)  Explain the merits of the type of enterprise identified
in (a). (4)

Sony Ltd. is a leader in elecironics. It is registered in a
company form and has its business operations in many
countries of world. Its headquarter is in Japan. To manage
its branches and subsidiaries in different countries. the
company cmploys trained and professional managers. They
always male use of latest technology to remain leader in
electronics.

(a)  Tdentify and explain the type of enterprise formed
by Sony Ltd.

(h)  Explain its benelits. (4)

It Is important to choose an appropriate form of

organisation. Explain any four factors that determne the

choice of form of organisation. (4)

. A housewite sells old newspapers every month. Will it be

considered as a business activiry® Why? Also, explain the
olther features of husiness. ' (3)

(3)



21,

(22

024,

Q25

Explain the different types of banking scrvices available
to customers, (5]

The role of public sec(pr in India has cha nged significantly
after the New Industrial Policy, 1991'. Do you agree? Give
1£asons to support your answer (5]

Distinguish hatween Public Sector and Private Sector on
the {ollowing hasis - (3]

(a)  Soeial Objectives (b) Government control
(¢)  Forms of Ofganisation (d)  Finangjy] resources
(&) Accountability

Identify and explain the following types of industries :
(@) Mr. Ram is engaged in cullivation of Crops.

[b) Mr. Ankit owes 2 catile breeding farm,

) Mr. Aman is “ngaged in manufacturing of 80aps.

A(d) Mr Aia}f Operates gn oj] refl'nei'y company.

(@)  Mr. Amit takes contract for huﬂdiﬂg roads, flygvers
ete.

(f) Dell Ltd. is Involved in Mmanufacturing of computiers

& laptops. (65)

The business assets ol an organisation amount o 2 50,000
but the debts that remagin Unpaid are T 80,000, What
course ol action can the creditors take if :

(8)  The organisation is a sole proprietorship firm.,

(b)  The organisation is g partnership firm with Anthony
and Akbar as partners,

(¢)  Which of the two parmers can the crediiors approach
lor repayment of debeo Explain giving reasons.

(d)  Explain the other limi{ations of partnership. (6)

26, A group of 8 .peoplﬁ decided to form a company and hence

approached Sindhwanj Pvt. Lid. They helped them in
identifying the different business Qpportunities g

(4)



sugdested to set up a mobile-phone manutacturing
company, Before converting this business Opportunitly intg
a real project, Sindhwani Pvt, Ltd. made arrangements for
conducting technical, financial and econarmie surveys, For
this they took the help of specialists like CAs, Engineers
elc:

(al  Identify the steps of promation stage completed in
the above case hy quoting the lines,

(b)  Explain the next steps required to be fulfilled by
Sindhwani Pvt. Ltd. to promote the company. (6

@27. A [actory manufactures solar panels used for generating
electricity from sunlight in a backward arca. It found that
there was lack of employment in the area and decided to
recruit the local workers. Sales of the company are
substantial because of Non-availability of electricity in that
arca. Therefore, the company expanded its fact{n'y to meet
the increased demand.

(a)  Identily and explain the objectives of bhusiness
highlighted in the above case,

(B)  Quote the values being Iollowed by the business,
(6)
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SUBJECT : ECONOMICS [SET-I]

Time ; 3 hrs. M.M. : 100

General Instructions :

(i)
(11)
(iii)

(iv)
(V)]

(vi)

Q1.

'Q2.

Q3.

All questions in both the sections are compulsory.
Marks for questions are indicated against eqch.

Question numbers 1-5 and 16-20 very short answer
questions ¢drrying 1 mark each. They are required to
be answered in one sefiternce.

Question numbers 68 and 21-23 are short answer
questions earrying 3 marks each. Answer to them
should not normally exceed 80 words each.

Question numbers 9-11 and 24-26 are also short
answer questions carrying 4 marks each. Answer to
them should not normally exceed 70 words each.

Question numbers 12-15 and 27-30 are long answer
qilestions carrying 6 marks each. Answer to them
should not normally exceed 100 words each,

Answer should be brief and to the peint and the abouve
word limits should be adhered to as far as possible.

SECTION-A (Statistics for Economies)
The advantage of census method is - (1)
(a) Economical
(b)  suitable when area of investigation is large
(¢)  high degree of accuracy
(d) quick result

Calculate median if the value of mode is 90 and mean is
¢le} | (1)

Choose the correct statement : (1)
(a)  Inplural sense, statistics means statistical methods.

(b)  Statistics are aggregate of facts.

(1)



(c) Sampling error can be minimised by being morc
vigilant and careful while processing the data,

(d) Both (b) and (c) )

(34. (Give the meaning of chronological classification. (1)

Q5. What is non-sanipling error? (1)

Q6. Discuss the importance of statistics in Economics,  (3)

OR

Q7.

Q8.

Q9.

‘Statistics is numerical statement of facts, but all facts
numerically stated are not statistics’. Justify giving
reasons. (3)
Tabulate the given information : (3)

In 2010, out of a total of 1,500 applicants in a college, 900
were from commerce background. The number of girls were
600, out of which 230 were from scicnce stream.

In 2011, the total number of applicants was 2 500 of which
1,800 were boys. The number of students from science
stream was 1,600 of which 430 were girls.

Calculate median from the following data : (3)

-

X:[ 10 [ 12 [ 12 18 | 20 | 16 | 22

[ 2 5 12 | w0 | 7 | 20 | 3

Calculate the value of median from the data given below :
(4)

Class Interval 1-10 11-20 [ 21-30 | 31-40 | 41-60

Frequency 1 12 20 9 7,

.QID. (@)  Caleulate Arithmetic mean [rom the following data

by step deviation method. (Take A = 35)

Marks 0-10 | 10-20[20-30]30-40] 40-50 | 50-G0 |

No. of students o 7 12 18 5 3

(h)  State any one mathematical proﬁé}—t}f of Arithimetic
Mean. (3+1=4)

(2)



Qll. Draw a pie diagram for the following data on public

_  expenditure ; (4)

tIterna | Amount

| (in < crores)
Agriﬁ’;nlture and Rural Devclopment . 40 "
Irrigation | 50
Energy ) | 30 K
Industry 20
Transport and Cﬂmmun-i“c:atiﬂﬂ - 30
Soctal Services __ 0

- OR

The following are the profits earnedby two companies in
India over the last four years. Present the following data

by a suitable bar diagram. - (4)
Year | Maruti  crore) I Iyundaj (£ crore)
2012 20 I
2013 | 40 T s

I 2014 45___ - 40 _

| 2015 Ai_ 50 me . 15

(12, Find mode from the following data using grouping method:

——

Class Interval | 05 | 5-10 [10-15]15-20[20-25]25-30] 30-35 132 20120-25
_F-requeucy % 20 | 3 T{Jt 25 | 80 | -28 10 15
J13. (a) I_Draw a ‘l.ﬁﬁ;t.han’ and a ‘more than' ogive for the
tollowing frequency distribution on g single graph :
Marks : 0-10 [10-20[20-30 [ 33-20] 40-50 50-60
_P_-Ja. of'Students :- 6 | 4 - 5- 10 .12- 3

(b)  Explain any (wo demerits of mediary, (4+2=6)

J'I "

&)



@14. (a) What is meant by questionnajre? Lnumerate the

esscntials of a good questionnaire. 2

(b)  Differentiate between random sampling and non-
random sampling, (3+3=6)

OR

(2)  Differentiate between Pprimary data’ and secondary
data’.

(b)  Briefly explain the lechnique of stratified sampling
with the help of a suitahle example, (3+3=6)

QI5. (a) Find the missing frequency in the [ollowing
distribution if arithmetic mean is 20.

Class : 0-10 | 10-20 | 20-30 T 30.45 40-50

Frequency : 5 7 o, A8 16 6

I' (E] The average weight of ."-2._0 students is 94—ng While

- the average weight of 8 students is 100 kg. Calculate
the average weight of rest of the students. (3+3=6)

SECTION-B (Indian Feonomic Development)

Q16. Which of the tollowing is not a component of privatisation?
(Choose the correct alternative) (1)

(a)  Contraction of public sector
(b)  Withdrawal of government from management of
public sector enterprises.
(¢)  Purchase of public sector's share Ry private sector
(d)  Purchaseof private sector's share by the government,
Q17. Land reforms refer ig - (Choose the carreet alternative) (1)
(@)  abolition of intermediaries.

(b)  making more land availabe tq small and marginal
farmers.

(¢)  consolidation fo small and [ragmented Jand holdings.
(d)  All of the ahove.

(4)



Qla.

Ql9.

Q20.
Q21

Q22.

Q23.

Q24

Q25.

Q26.

involves deregulation and reduction of government
controls and greater autonomy of private investment 1o

make the economy more competitive, (1)
(a) Globalisation () Privatisation

(c) Liberalisation (d) None of thesc
Name some notable economists who estimated India’s per
capital income during the colonial period. (1)
Define ‘Small Scale Industry’. (1)
Discuss Lhe state of India’s foreign trade during the colonial
rule. (3)
Explain the objectives of growth and equity as adopted by
the Indian planners after independence. (3)
Agricultural sector appears to be adversely affected by the
reform process. Justify giving reasons. (3)

OR

“The economic crisis that prevailed in 1881 led to the
adoption of the New Economic Folicy . Briefly describe any

(hree causes that led to this crisis. (3)
(a) What is the difference between ahsolute and relative
poverty?

(b) Isthere any relationship between unemployment and
poverty? Explain. (2+2=4)

“The public sector in India had (o play and extensive role
in promoting the industrial sector alter independence’. Why
was the public sector given a leading role in promoting
industrialisation in India and how far was il successful?

(4)

OR
Describe the foreign trade policy that India {ollowed during
1950-1980.
(a)  State any two functions of World Trade Organisation.

() India has certain advantages which make it a

(3]



Q27. (a)

favourite outsourcing destination. What are these
advantages? , (4+4="1

‘Green Revolution enabled the government to prgcu?e

sufficient foodgrains to build its stocks that could
be used during times of shortage’. In this context.
discuss the benefits of Green Revolution.

While subsidies encourage farmers (o use new
technology, they are a huge burden on government

finances. Discuss the usefulness of subsidies in the
light of this fact. (3+3=6)
Were there any positive contributions by Britishers
in India? Discuss,

Briefly explain three main causes of India's

“agricultural stagnation during the British rule.

(3+3=6)
OR
Give a quantitative appraisal of India’s demographic
profile during the colonial period.
Discuss briefly the shortfalls of the industrial policy
pursued by the British colonial administration.

(3+3=6)
Explain briefly the reform policies introduced in 1991
to improve the performance of financial sector in
India.
Explain the changes initiated in external sector after
1991. (34+3=6)
Explain the ‘growth oriented approach’ adopted by
the government to alleviate poverty.in India,
Discuss three major weaknesses of various poverty
alleviation programmes taken up by the Indian
government. (3+3=0)
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Q23.(a) Prepare the vouchers (any two) for the following
transactions. "‘
3. Opened a bank account in canara bank with Rs.6000
b. Sold old typewriter for cash vide cash receipt no.314.Rs 5000
C. Depreciation charged on building @ 10% on |
Rs.2,00,000. -
(b) Vijay a consultant during the financial year 2014-15 .
earned Rs.4,00,000. Out of which he received
Rs.3,20,000. He incurred an expense of Rs.1,70,000, out
of which Rs.40,000 are outstanding. He also received
consultancy fee relating to previous year Rs.45,000 , paid

expense of Rs.20,000 of last year and also received an
advance of Rs.10,000 for the year 2015-16, ‘
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Term-I
Class - XI
SUBJECT: PHYSICAL EDUCATION

TIME: 3 HOURS M.M-70

General Instructions:

{ii) Answer to question carrying 1 mark should be approximately 30 words.
(i)  Answer to question carrying 3 marks should be approximately in 100 words,
{iv) Answer to question carrying 5 marks should be approximately in 150-200 words.

{i) All questions are compulsory,

Q1. What is the aim of Physical Education? (1)
Q2. Write down the oath of Special Olympic Bharat? | (1)
Q3. What is meant by life style? (1)
Q4. What do you mean by coordinative abijlities? (1)
Q5. Write down the Olympic Oath? (1)
Q6. What do you mean by Body Composition? (1)
Q7. What is Pranayama? . fl)
Q8. What is Olympic Motto? (1)
Q9. What are types of Doping? | (1)
Q10. Define Blood Doping? (1)
Q11. Define Physical Activity? (1)
Q12. Write a short a note on Olympic Flag? (2)

Q13. Discuss the role of maintaining a healthy weight in preventing health threats

through the lifestyle changes? (3)
Q14. Briefly discuss about Paralympic Movement.’ (3)
Q1>. Briefly explain the principles of Integrated Physical Education, (3)
Q16. Describe any three physiological benefits of Asnas? (3)
Q17. Discuss about the opening and clasing ceremony of Modern Olympic Games. (3)
Q18. Define Strength and discuss its types in brief, (3)

Q19. What do you mean by Asnas? Discuss the types of Asnas? (2)



020. Discuss the elements of Yoga?

021, Explain about Rajiv Gandhi Khel Ratna Award.

Q22. Discuss the main Aims of National Institute of >ports.

Q23. Discuss the methods of prevention and management of Diabetes.

Q24. Describe the side effects of Anabolic steroids, stimulants, narcolics, Beta-2-Agonists

and Diuretics.
Q25. Discuss any five essential elements of Posilive Sports Environment.

(26. Describe any five types of Ergogenic Aids.

T T T L I S L



Time : 3 Hrs,

FT.F 9/2018

SUBJECT : COMPUTER SCIENCE (SET -1)

M.M.: 70

General Instrictions :

(i)
(ii)

@i,

| Q<.

(a)

()

(c)
(d)

(&)

All the questions are compulsory.
Programming language: C++

Distinguish between input devices and oufput
devices. (2)
What are language processors? Give the names ol

all lJanguage processors. : (2)

Write any two weaknesses of a computer? (1)

Write a short note on operating systeil. (1)

()  Convert following number from octal to decimal
7356 (1)

(i) Convert hexadecimal to binary. (1)
7AB4.4F

(iii) Convert binary to octal (1)
11100011110.10111

What is taskbar? B {1)

()  Explain the following Operating Systems? (2)
(a) Time sharing O3
(h) Multi processing Q3
(i) What is the use of folders? - 1)
Explain any two types ol integer constants.  (2)
(1) Out of the following, find those identifiers.

which can be used for naming variable,
constants or functions in a C++ program. (2)

_Cost, price*gty, float, Switch, All data, Delete.,
Number12, do " |

(1)



Q4.

(c)

(i) What will be result of a = 3/5 il & is (cl) int
(¢2) float? (1)

Write a program to Calculate Area fo Fquilateral

Triangle. (2)
Arrange the data lypes from largest to smallest based
upon the size. (2)

long, double, char, int

Write a C++ program to input any average marks
and to find grade value based upon the following

information. (3]
Average Marks Grade
> = 85 A
< 80 & > = 63 B
< B5 &> =40 C
<4b &> =25 D
< 25 E
()  Explain any two user define data type with an
example. (2)

(i} Dpefine a structure d'até---tvpé';:ith an exa m'f:}['e'?‘ 1
e —— 2)

What will be the size of the following constanis? (1)
(i) “LOGICAL EXPRESSION

G) Y

What is the difference between automatic Type
conversion and type casting? Give example to explain
both. (2)
What will be the output of the following code : (2]
() cout<<"$\n&&\NESH\t&&& &N

(i) charb="%" cout<<h; cout<s<h';

Write a program to input any number and to find -
factorial value of that number. (3)

(2]
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_\ft[[lte 3 progyam m prmt the area @f Sl.‘lLIEH'F f:.m:Ie and
(d) tnangle using switch statements on!y (3]

Q5. (a) (i) Explain logical errors and run time errors with

an example. (2)

(i)  Differentiate hetween while and do...while. (2]

(b) (i)  Rewrite the corrected program . (2)
#include<iosiream.h>

void main( )

l

int j =99, a;
float u = 10.0;
cin(a):

while a<=j
[
a+=10;
11="4}
|
l
(i) Write an equivalent do...while loop for the
[ollowing for loap. (2)
for (1=20, s=0: i<=500; {+=20)
{
coul<<icg \t";
S+=i;
|

cout<<™\n sums="<<s;

() Find Two's complement of (-78) [use one byte

memory| (2)
Q6. (a) Whatis the difference between 7', 7, 7.7 and *7"?
(2)

(b)  Write a program to check whether given year is leap
year or not. (2)




(c)

(d)

Rewrite the following code [ragment using il (2)
switch(ch)
{
case ‘P’ coul<<"Platinum”;
break;
case 'G' ! cout<<"Gold™
break:
case ‘S cout<<"Silver”; ,

break;
LS
default : cout<<Normal’;

|
(i) inti=0, sum=0;
while(++i<5)
suin+=i;
cont<<"Sum="<<suin,
(i) inti=0, sum=0;
while(i++<5)
sum+=i;
coute<"Sums="<<sum;
(a) Find the output of the above codes. (2)

(b) How many times the above loops will
execute. Explain. (2)

Write a program to input any number and o print

“all Prime numbers upto given number. (4)

Write a program to find the sum of all odd natural
numbers upto given number. (2)

- Write a program Lo check whether the reverse of the
- pumber is same as given number or not. (4)
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Q9.

Q10.

(31 1.

(¢) What has happened Lo her now? (1)
(d) What did the photograph depict? (1)
OR
And who art thou? Said 1 to the soft falling shower,
Which, strange to tell, gave me an answer, as here translaled :
| am the Poemn of Earth, said the voice of the rain.
(a) Who are the two people in conversation? (
(b) What did the poet ask¥ (1)
(
[

(c) Why was it ‘strange to tell”? 1]
(d) What does the rain call itself? Why? 1)
answer any four of the following questions in 30-40 words each : (4x3=12)

(a) Which lifetime habit did the grandmother break on the day of the author's arrival from
abroad? How did she make amends for il? |

(b) llow did the crew of the ‘Wave walker" prepare themselves lor Lthe worst?

(¢) The poem 'A Photograph’ highlights contradictory feelings of permanence and transience.
Comment.

(d) How did the dogs at John Byro's vineyard behave? What explanation did Mourad give for
this hehaviour?

(&) Who was Mrs. Dorling? What made her renew her contacl with Mrs. 5, the narrator's
mother? |

(f)  Theold lady who had come to see Ranga on his return from Bangalore went away satisfied.
Why?
Answer the following question in 120-150 words : (6)
Describe the narrator's ploy to get Ranga married.
OR
The grandmother was a caring lady. She loved animals and birds and took care of the street

dogs and the sparrows. Based on your reading of the slory, write a character sketeh of the
author's grandmother,

Answer the following question in 120-150 words : (6)
The children faced the situation more bravely and maturely than their years. Discuss.
OR
How does Aram describe the ‘spritis of his tribe’? What was the hallmark of his trihe?
Answer the following question in 120-150 words (65)

Discuss the claborate preparations made by the ghost for his Augusl 17 pertormance. 1id il
achieve the desired eftect?

Answer the following question in 120- 150 words : B)
Write the character sketch of Mr. Olis.
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SUBJECT : ENGLISH (SET-I)

Time : 3 Hrs. M.M.: B0
General Instructions :

(1)
(ii)
(iii)
(iv)

Q1.
ks

All questions are compulsory.
You may attempt any section at a time.
All questionsl of that particular section must be attempted in the correct order.
Avoid cutting and over-writing.

SECTION-A (READING)
Read the given passage carefully : (12)
How often have you heard people remark : “I'm not like the rest: I'm different™? How often do
people make this assessment of themsclves in varied contexts? To some extent if is true; all of
us are unique, different from each other. It is heartening to know that no wo snowflakes are
alike and everyone's finger prints are unique. Indeed, very few things in nature are exactly
alike: each cloud, each [lower. tree, every leaf, and even water molecules, are dillerent from
each other. Certainly, Nature never meant human beings (o be clones ol each other. Qur DNA,
circumstances of birth, culture, upbringing, influences and exposure - all ensure each individual
has striking differences from another.
But we ignore that reality and pour ourselves into readily available cast. We model auirselves on
available leads, become a part of groups and thereby lose our individual identities. Looking
around for affirmations and approvals, we end up as clones of each other, Drowning the voice
of our individual drummer we march to tunes that have the stamp of social approval.
And vet the niggling voice within us sometimes asserts itself, and we declare we are dillerent,
Of course we are. Each one of us is different, But do we really appreciate or even understand
our own differentiators? Do we work upon and display these to our advantage? "It you only
read the books that everyone is reading you can only think what everyone else is thinking”.
says Haruki Murakami in Norwegian Woods, True, And similarly it you only do what everyone
else is doing, wear what others are wearing, echo opinions and reflect attitudes you encounter
clsewhere - you can only be one of many!

If you wish to lead a life less ordinary it is important to create your differentiator and nurture
it, Just like a differentiator helps grow or kill a business, differentialor for an individual gives
him that competilive edge over others. This is what will make you stand out. he the one who is
selected [Tom amnongst many, and the cynosure of all eyes in a crowded room. Your diffcrentiator
is what gives you your individual identity, the one thing that will make you stand out in a sca
of ‘others’.

To identify your differentiators [ocus on understanding and aceepting yourself as you are,
without wanting to be someone or something else. This will help you naturally gravitate towards
things that enhancec and add value to you. You will learn to develop skills and use these (o your
best advantage without looking around for guidance or waiting for a sign. You will develop your
own individual personalities as well as slyle slalements, |

([F-1)
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It is important Lo develop your signature style, he it in i;ezsonality traits, attitude or siyle
statement. IL could be the pursuit of a hobby that lifts you above the rest, or a philosophy ~=
outlool you digplay. Slep oul of the boxes you have been taught to grow within and explore
possibilitics beyond. Consciously attempt to do things in your own way. Cerlain traits become
the hallmark of a profession. Bureaucrals will be pompous: politicians will he smoothly devious:
journalists will be intrusive; clerks irritable, scientists will be absent-minded: lawyers
argumentative and doctors harried! Some are smart cnough to consciously: step away frow
adopting the traits associated with a group or profession; they develop heir own differentiators
and attitudes. These are the ones instantly marked as ‘dilferent’.

But different from what? It is very casy if difference alone is the agenda. Wear strange clothes,
walk in a strangde manner, be rude amongst polite peaple and take on an anti-special stance,
You are different! However being subversive or an object of ridicule is not the point. Nor is it the
idea to stand out for the heck of it. Your differentiator hias (o be real and true to you as you
understand yoursell, Then alone il is enticing and exciting,

Hence in order to be cffective, the differentiator has to define you and your agenda, not he the
agenda itsell, That will make you stand apart. Thatl will give you the culling edge over others
and distinguish you from the rest of the crowd.

On the basis of your understanding ol the above passage. answer the following questions by
choosing the most appropriate optioln : [1x4=4)
(@) lluman beings are different {rom each other because

(i)  nature never meant us to be clones
(i) we are made like snowflakes
(iii) we follow different professions
(iv] our DNA is wired at birth
(b)  Despite being different from one another

(i)  we fight for our rights

(i) we become individual drummers

(i) we go to nature for support

(iv) we pour ourselves inlo a readily available cast
() Ifyou do what others are doing,

(i)  you lcad an extraordinary life

(ii)  you become part of the crowd

({ii) you become cynosure of all eyes

(iv] you ereate your individual identity
(d) Yourtrue differentiatoris

()  wearing clothes that others arc wearing
(i)  tale an anti-special stance
(iii) be true and understand yourself

liv) he entlicing and attractive

(F-2)
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Answer the following questions briefly : (1x6=6)

(@) What gives individuals their striking differences?
(b)  What steps do we take Lo drown otir ditlerences?
() What are the advantages of accepting ourselves s we are?

)
(d] What are differentiators? How can one avoid them?
(¢) How can one be an effective personality?

(f)  What is the ultimate test of a true differentiatlor?

Find words from the passage that mean the same as : (1x2=2)
(a) (o [oster (para 4)

(b) prying into another's affairs (para 6)

Read the passage given below and answer the questions that follow : (5)
Most parents at somgc stage are driven to distraction by one or more of their children’s annoying
hahits or behaviours. whether it is a toddler who continually whines, a school-aged child who
lcaves clothes lying around or a leenager who uses a less than pleasant vocabulary.

How to affect change is a challenge for many parenis. Do you ignore a child's annoying hehaviour
or do you pick up on it? A useful rule of thumb is to pick up on behaviours that are dangerous
to the child himself or significantly infringe on the rights and comfort of others. Also ask yourscll:
Is this behaviour reasonable for the child’'s age? For instance, it i8 reasonuble to expeet an
eight-year-old not to disturb you while you are on the phone for twenty minutes but it is not
reasonable to expect the same of & wo-year-old. It is also uselul (o lake into account the child’s
current state of mind and what is going on in their lives that may be relaled to some unusual
behaviour to occur at home,

The following four principles for changing your child's behaviour will be effeclive if you are hoth
palient and persistent. Change your initial response first, This is impaortant because children's
behaviour generally reguires pay-off, which may be your allention or an attempt to defeat
you. The most important principle about changing children’s behaviour is to ehange your own
behaviour first., So, if your child whines (o gel his own way refrain from answering back or
giving in.

Practice with your child the behaviour that you want. The notion of behaviour rehearsal is
fundamental to learning a new bchaviour. Don't just tell kids what you expect, get them to
practice the behaviour you want. In the example of a young whiner - det him to practice asking
for help or a treat in a normal voice.

Minimise the behaviour you don't want. That means when children continue their old behaviour
despite your brilliant suggestions ignore it, sidestep it or implement a consequence but don't
nag or harp on it. Remember it takes time often to change a behaviour, particularly if it has
heen happening for a long Lime. Spotlight the appropriate behavicur. When your children behave
in the desired way show your sincere appreciation. We often take children for granted or rather
we are {rained to give children no attention when they are good, but plenty when they are less
Lhan perfect. The behaviours we focus on expand so we need to focus our atlention on desirable
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Answer the following questions briefly ; (1x6=6)
(@) What gives individuals their striking differences?

(b} What steps do we take to drown our differences?

(e What are the advantages of accepting ourselves as we are?

([d)  What are differentiators? Ilow can one avoid them?

(e}  How can one be an effective personalily?

()  What is the ultimate test of a (rue differentiotor?

Find words from the passage that mean the same as : (1x2=2)
(a) (o foster (para 4)

(b) prving into another’s allairs (para 6)

Read the passage given below and answer the (juestions that follow : (&)
Most parents at some stage are driven to distraction by one or more of their children's annoying
habits or behaviours, whether it is a taddler who conti nually whines. a school-aged child who
leaves clothes lying around or a teenager who 1ses a less than pleasant vocabulary.

How to attect change is a challenge for many parcnis. Do you ignore a child's annoying behaviour
or do you pick up on it? A useful rule of thumb is to pick up on behaviours that are dangerous
to the child himself or significantly infringe on the righ(s and comfort of others, Alsa ask yourscll:
Is this behaviour reasonahle for the child's age? For instance, it is reasonable Lo expeet an
eight-year-old not to disturb you while you are on the phone for twenly minutes but it is not
reasonable to expect the same of a lwo-year-old. It is also useful to take into account the child's
current state of mind and what is going on in their lives (hat may be related to some unusual
behaviour to occur at home.

The following [our principles for changing your child's behaviour will be effective if you are hoth
patient and persistent. Change your initial response first, This is important because children’s
behaviour generally requires a pay-ofl, which may be your attention or an allempt to defeat
you. The most important principle about changing children's behaviour is to change your own
bchaviour first, So, il your child whines to gei his own way refrain [rom answering back or
giving in.

Practice with your child the behaviour that you wanl. The notion of behaviour rehearsal is
fundamental to learning a new behaviour. Don't just tell kids what you expect. gel them to
practice the behaviour you warnl. In the example of & young whiner - get him to practice usking
[or help or a treat in a normal voice.

Minimise the behaviour you don't want, That means when children continue their old hehaviour
despite your brilllant suggestions ignore it sidestep il or implement a consequence but don't
nag or harp on it. Remember it takes time often to change a behaviour, parLic;ul‘arIy it it has
been happening for a long time. =potlight the appropriate behaviour. When your children hehave
in the desired way show your sincere appreciation. We oflen take children for granled or rather
we are trained to give children no atltention when they are good, but plenty when Lhey are less
than perfect. The behaviours we focus on expand 30 we need to focus our attention on desirable
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hehaviours more than on the negative behaviours, For our yourng whiner il 1s eggential fo make
a [uss wherl he uscs a normal voice to get what he wants.
Like any process il will only work if you stick to it and follow it {hrough. And dont be afraid to
adapt il lo suit your circumstances. Remember, il is the fact that you have a plan rather than
e nature of the plan that is most powerlul in achieving & change in your ¢l jildren's behaviour.
The Times of India

(A) On the basis of your reading of the above passage, make notes ol it, using headings and

sub-headings. Use recognizable abbreviations (wherever necessary - minimum tour). Also

supply an appropriate title. (3)
(B) Write 4 suunmarty of the above passage in about 80 words using the notes macde. (3)

SECTION-B (ADVANCED WRITING SKILLS)
As the Sports Captain of Laurel High School, Karnal, write a notice for siudent’s notice board
informing budding cricketers to attend irials for selection Lo the school teal.
OR
The Power Grid Corporation of India needs a poster for ils nationwide ‘Save MNCIgY Cainpaign’.
Draw a poster for the campaign. (4)
you are Anita/Gautain staying at Anlkur Apartments, Mayur Vihar, Delhi. There 15 NO park
within the radius of 2 kil from the socicty. The absence of of a park is causing d lot of
inconvenience to the residents, especially children and elderly people. Write a letter to the
cditor “The Times of India drawing attentiorn of the concerned suthorities to the problem.
OR

Everyday newspapers scream of a new scam. & New scandal, a now €ase of corruplion or
embezzlement or unearthing of unaccournied money. arrest of officials taking bribe arl what
nol. Write a letter to the editor of a nutional daily voicing your concert over the issuc. (6)
A special Theatre Festival is being held in your school. Many well known modern plays will be
staged by amateur Lheatre groups in this week-long festival, Write a report in about 150-200
words on the procecdings of the festival.
OR

Today reckless driving on roads is a great threat. The roads have virtually become death traps
for pedestrians and motorists alike thanks to gpeeding vehicles. Write an article in about 12U-

500 words on the topic ‘Reckless Driving Thrills But Killg". (10)
SECTION-C (TEXT BOOKS AND LONG READING TEXT)
Read the following cxlracts and answer the questions (hat follow : ‘ (1)

The cardboard shows me how it was

When the two girl cousins went paddling,

Each one holding one of my mother’s hands,

And she the big girl - some twelve years O SO.

(a) What does il refer to in this extracl? (1)
(h) Whois ‘she' here? Why has she been called ‘big'? (1)
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